48 UM = suHA A

48 242 (3) ~ 262 (=)

:[07:20] CHZIOHIHE (65252 ~H BB S XS Y —>AIE D

1S Xt
2Kt :[07:20] SNA(HASLE)-ADIFEY HASLE >ZT A W45
3&xt :[07:20] ZEUAM->+EIHA-ASIEI2(EEY) -

xt :[07:20] Se2HA-AR0ICIS2A L->AH->SBA-ED

~
[ol

48 274 (8]) ~ 282(3)
15 ¢ [07:20] CHRIOHIE (6S25%) ~EESY>AIH S>3t
28Xt 1 [07:20] SNUA(HASZE)—ADIFS HASZE>ZTAWN-AD|F
33Xt ¢ [07:20] RH2XA(ZEUNAMN Z2E )4 SEHR—-3
AS Xt ¢ [07:20] SEHA->2IIX Ld->2HIXNB(HAS2ZE) -8
53Xt ¢ [07:20] RS- RMUCIS2XA->AM Y-t

*1SX= Lt BAZ & E& = SHX6H o1 S HAN JtE &




